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Acceptable Answers 
A community consist of different populations of organisms living together in the same 
place. 
Five 
Organism R helps Organism S to blend into the surroundings so it is not easily seen by 
oredators. 
(i) Organism Rand U.
(ii) R will increase. There will be less T feeding on R so the population of R will increase.

The population of U will decrease as there is less T for U to feed on.
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To compare and confinn that the butterflies are attracted to substance X, and not the 
paper flower. 
The amount of substance X, when present, has no effect on the number of butterflies 
attracted to the paper flower. 
The butterfly will help to pollinate flower A. 
Having more seeds will increase the chances of the seeds germinating and growing into 
adult plants. 
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